
Plane Geometry 
Pair of  straight lines

Prove that the product of the

perpendiculars let fall from thepoint
be , y') upon the pair of straight
lines and + Ihmy
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Let es . ① represent two
lines
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Let ?, is distance from piy's ·
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to y-mgx = 0

P
,
= y - m

,
x
and? y'-M2x'- 2=-
-Im, 1 It Mc



P
, P2 =me · me

e

- lyme
-

-msgMineSee



- y- (m ,
+ me)n'y' + m

,mex
!

-
-
11 + (m ,

xmg)2-2m ,
me +m,

2"
( , +M2)

=
m,+m

=y- ()n'y'+ (=) a
+ 2m,m2

2- 35)+ 2



- wistai nee
ax'Y

legnas'e



- analyta re
Heute Povel
-
-


